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1. QRSAM has been succeasfully teat-fired
by the

[A) Indian Air Force on 17 October,
2020

(B]  Indian Navy on 17 November, 2020

[C] Reliance Naval and Engineening
Limited on 17 October, 2020

D] DRDO on 17 November, 2020

2. Which of the following Commitiees are
Committees of the Parhinment?

1. Public Accounta Committee
2. Estimate Committee
3. Committee on Public Undertakings

Select the correct anewer using the
codes given below :

[A] 1.2and 3

(B)] ! and 2 only
[C] ! and 3 only
(D] 2 and 3 only

3. The Chief Election Commissioner of
India holds office

|A] for a period of aix years

[B) for six ycars or up to the age of 65
years, whichever is earlier

(C] during pleasure of the Preaident

[D] for five yecara or up to the age of
60 year. whichever in earlier

1. QRSAM WY f%udi T wEATTim wifmifan
(teat-fire) f&m nm w7

[A) satfla wig O ZW 17 FRNC 2020 6
jB) st fikn g 17 et 2020 W

(C] fzmgu awa Oz wifaaltn fuftee gra 17
WKW 2020 W

B DRDO T 17 F0at 2020 W

2. fm i ) A vfafad, vz 0 wfafant 87
1. afexw ez winfa
2. ufienrm unfnfa
3. wdafiw Tt m winfa
2 f22 ma wire =1 orEEn W& WA I A
Al 1,27 3
[B] ¥39 1 @@ 2
[C] ¥aa 17 3

(D] ¥R 2 vd 3

3. WA W WA AW HEE & wEE f R
Nl B: @ & ferg,
B v: @ @ 65 T W W AF A

T 0
IC] mfa & fworgm

D) Wt uql @ 60 T & Ia aF, W
yEA N
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4. Kammj Plan was a plan formulated in
1963 by

[A] Chief Minister of Madras, whercby
the senior ministers were asked
to leave government and work to
rejuvenate the party

[B] Union Cabinet Minister, whereby
a new Constitution for the Indian
National Congress was proposed

[C] Chief Minister of Madras, whereby
& new set of prnciples for
accepting donations for the party
work wns proposed

[D] Chief Minister of Madras to root
out corruption from India

8. Which of the following anti-satellite
missilea wans teated by Indin on
27 March, 2019?

|A] Mission Antriksh
[B] Mission Gagan
[C] Mission Shakt

[D] Mission Destruction

6. In 2019, Nobel Prize in Chemistry was
given for which development?

|A) For the development of hithium-ion
batteries

|B] To develop protein

[C] For developing  cryoelectrohic

microscopy

[D] None of the above

’,.-'.".mmt?lWﬁ 19635'&1!%

Al wrm & el T, W T W g,
a7 T kg W R & R 3Ry gy

) e UEA W FE W W

(B] ¥ Mg wft g, T W Tesy
wEn & PR TH TN EAVE T
fem o W

(C] wamm & govd gw, F@ o & fom
witen wa ¥y wu e Tein
foq m @

[D] Wz % quRd Tm, WA HOWEET §)
frfm w1 & fem

8, fr= & @ fan d-deEr FamE W uhen
oy gm 27 ™ 2019 ® fam o e

[A) fame wafiw

B) fows

(Gt fowm wfw

D] f&mR faam (destruction)

6, 2010 #, wNEIAR W ANAE wga, fE
fawm & fag fom mo w2

(y faftmu.sma el & fawm & forg
B W8 faslm s & fom

(C) wEErRE smwed fawfm =3
& fm

D] it & A W
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7. Which of the following statements in/
are correct regarding bipolar disorder?

IA) It is a mental health condition

[B] Patienta with this  disorder
undergo intense mood shifts

[C] Patients with this disorder face
difficultiea in  planning  and
decision making

(D] All of the above

8. Which one is an alkaline among the
following?
[A] Vinegar |B] Saliva

(C] Ammonia [D] Acid rain

9. How are the following elements
arTanged in the Penodic Table?

H, He, Li, Be and B

[A] H, He, Li, Beand B
[B] H, Li, He, Beand B
[C] H, He, Be, Li and B
[D] H, Be, He, B und L3

10. Which among the following 12 a place
located in Larkann district of Sind
province in Pakistan?

|A] Alumgirpur
(Bl Harnppa

[C] Rangapur

|D] Mohenjo-daro

7, wpam fosméie ¥ wal 4 3 § 3
¥ WA e @A B

(A] wr wafEw e @ o yaan )
B w femi & =i A d whzm o )

(c] ® fezwrdt & =i =1 S @3 w
it 83 & wizmd ot @

ol T

8. fn= & 3 &3m Wil (alkaline) 27
Al faEm
[Cl

(8] w=Em
(0] ofie 3

9, fra wm Hhrafew rem A 88 w1
H, He, L1, BeTa

[A] H, He, Li, Beud B
JBI H, U, He, Be v.‘ B
[C] H, He, Be, L@ B

ID] H, Be, He, B ™ Lt

10. T2 8§ 0 &Rwm vfeses & By oo S
e = 8w b

|A) S
[B] ®E=n
[c] g

D) wEEaeR

SPACE FOR RQUGH WORK / vy %t & fq @
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L. Who wan the founder leader of Miialim ll'. fjfivn) il W wheprn (e s 0

Forirs'?

——d

Al Mugnu Shah [A] g |

B} Dudu Miyan | o I ;:

€] Tip cl & |

1

D} Chirg Ali Stah o) Pt aeft e |

|

12, The charge of Impeachment agninst 12, e gl ) g 0 l'|_'1.'.ﬂ i Mo !'ll"l'fll-ﬁll
the President of Indin far hia remaval wr oanty Teod g e @ i) B

can be preferred by |

,W Wie & ey

Al both NHouses of Parllament ]
() eintinn & ol o ardinn Boaedy |

8] Speaker of Lok Sabha and
Chalrman of Rajya Sabha

IC] Rajya Sahha
D] Lok Sabha

fc| i
fty) eitaenn

13, A.X) am L !1[ i el !. T Fail
13. As you go down Into a well, your weight

[A] increases alightly Aty wpn 2

8] deereases alightly 0 g wem b

[C| remaina exactly the same (] == A e B

D] Nene af the above Ity seitim A @ )

14. The weight of an object will be

@ O TR R T T G TR T TRIEIS
minimum when i1 |8 placed :

jA] TR0 g

[A] &t the North Pole |
[2] at the Scuth Fole ) el g

[C] ut the Center of the Earth [C] el & &2 N

[D] MNene of the above (o} weive 0w af)
) SPACE FOR ROUGH WK {75 %14 & fir une

perzn/3-A [
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15, In fireworks, the Ereen flame ia 15, srfvmer) § gt in & = wik we & e 2
Fﬁﬁd“:tﬂfbﬁﬂﬂﬂlﬂ‘ﬂf
| [A] #feen
|A] modium B
’ |B] sverfET
[B] potassium (cs =
[C] barium D]
D] mercury
16. Match List—I with List—Il : 16. T T Tl W i Wi
‘q_ﬂ—-l T[!B-H'II
List—I List—{I :
a. Carbohydmic 1. Pepain a, WWTRISE 1. 3R
b Enzyme 2 Starch b, AT 2. w=ri
c. Hormone 3. Keratin e T 1. #&rnfm
i Protein 4, Progesterone 4 WA 4. TrETHm
Al m b e d Al « b ¢ d
i 2 3 4 2 3 4
B n b e d Bl a b c d
2 1 4 A 2 1 4 3
| ; C| a b c d
fn b e d K
2 l a E 2 1 3 4
D] a b E d
O] a b c d : ~ 4 9
I 2 1 J
17. The nlogan ‘Mo Taxanuon without 7. Tm fEn & fen w1 W= (Ne Taxanon
Representation’ wan firat mised during | Re tation] B S s
the American Revolution in ;igﬁmm:n 1)
[A] Boston Tea Party 18] T i T
[B] Massachusetts Assembly (B] FirgieR W
(€] Philadelphin Congreas ‘ Icl Frare=rm wow
[D] None of the nbove D] Fwirw & @ i 3

SPACE FOR ROUGH WORK / T %74 i {6/ 7
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19,

18, Which country has conferred Manipun

doctor, Thangjam Dhabali Singh with
“Order of Rising Sun-Gold and Sllver
Rayn*?

(Al Indenesia

(8] South Korea

IC] China

D] Japan

The World Press Freedom Day i
celebrated annually on May 3. What is
the theme of the day for the year 2020?

[A] “Keeping Power in Check : Media,
Justice and the Rule of Law"

(H] “Cntical Minds : Medin's role in
advancing  peaceful, just and
inclusive  socictics”™

[C] “Journaliamn without Fear or Favour”
(D] "Media for Democmucy : Journalism

and Elections tn Times of Disin-
formmation™

A8, fom ¥ 3, uferg TR, WTAH G |
{ w “amd 3w mefi waomes B B e
oy fom Wy

(A wafam
(8] zfer wifea
(€]

(D] w3

19. “farm g0 s feam- ufvnd 3 g 9 5o
arm 1w 2020 ¥ forw 37 fres @7 e
wa R

[A) #fin am o aw - shfr, wfen o
LSRR 11 G

(B) ~fes wgm o dfftaa oo«
tatfim  Gepm, WR ot e
A

(c] ~wiferawm fagrm P st 3

(D] =it s gadsh | wdiEw 0 pren
R arn s fenixnidns-

20. Which of the following plants s not 20, 3= § & M Mo w93 s o Ko

capable of muanufacturing own food? 03 & amnd 7

A]  Algae A weh

B] Mushroom B] e

[C] Carrot c| #

D] Cabbage D] &%=

SPACE FORROUQH WORK / vtk w1d & féry ang
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21, 2077 ¢ 1673 o | i diviaihle by
Al 317
| @

I 23

o] ©1

22. A Bedight nu:&rﬁ'hllgndg“
defferen! and contaims digite |, 3, 4, 5
and § ooly. i Nia the s=maliest possihle
number that ta dmigibhle by 11, then
what is the rens place digit of N?

Al 1

m 3
K] 4

Dj S

23, H 1% et =1, ind the madmum value

2L 2074 165 2% 5EE oo wR
&

Al 317
[\ 323
IC] 253

b} st

22. TN ), 3, 4,5 6HF e o T
N s wnm s hosfz N o1 @
iy vaTs) wgem v 0, @ N € ot
LR T 3
1A) 1
B) 3
IC| &

D s

d B.‘w-yjo ”oﬁ r,vyzzl I.. ﬁ r‘..‘*y-yl w“
Fitemm R S5
w1 _
IA] 1
B8 v2
B] va
]
i<l Vs (€ Vs
D] = D] 4
SPACE FOR ROUCH WORK T3 s & S o
(040l = A it aram | T4 N«)
.h’,:‘ l'-:" PR S '.k‘-'.y\
'L,‘ L
DD20/3-A \"a | PT.O
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a4,

24, v yfn T U W T G €2

The ﬁi;ﬁlﬁ'nlt’tnl intereal pn A cestAin _ 34}
HENEUNT for fwo yeurs (o F a1 anel the ¥ ’r.l‘ii afy afm =0 R wra P 2804 5"*'
sinple tnterest on e saine amount s et ey ® =R 5L MR LU o |
£ 200 If the mte of Interes) o spme 10 niigll
botly the cames, find the princijl fraret
AL
(Al F 1200
|Al 1300
() £ 100
(1] #8400
() 1,700
IC] * 1700
D £1.750
I3} *1,780 N
i fi I e " b C -, Y
= - - - 3 % i - - Lol i m !F-'l &
. I oo - then r cannat 6. ult = TORCET rhomor 3
take nny other value, eweps amy w3 f) | s fivma
Al /2 A 1/2
n -1 -1
IC] /2 ar-=1 IC] 123~
IlJl -“'!"2 Bt = | IDI -‘”?‘1 -1
6. A student grim o aggrepate of
0% marks in fvo suljectn (n the ratlp a6, ws e vl Fawdl # 10w B 7T oA B
109 07 :6. 0 the puaning marks are R ﬂ , - : B
S0% of the maxtmam mntks nnd each ¥ W TR 60% ME B afg ndfwhe
aulije<t hns the same maxtmum marks, 50% B =i mofam & wfusas s e g, ‘
In how muny subjects did Lo pass the ﬁ a1 S fowd & e sl [
examinntion? ‘ '
Al AL 3
w3 B 3
) 4 c] 4
3] 6 o]
R  HPACE FOR ROUGH WORN J tn w % fou e -
‘ -‘f‘ o ;':F? q.f d =2
S NPTV 1 T
oy or . rad = b e
1, - gl P ——
IO ST "o )
TT‘F "‘ !,-’l,; §oub Ll'[_l‘ | & | & £yl -I!'*.l”}":l‘ i 1 1_; L
pp26/a-A AR 0 Vol etoeach bes OF
\ ey 2 Ve Ca 3
el - . 4 ) = 1 i 4
\ LA ks ?qu: A TP b=y T N A
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27. The cont of dismond surien dirvetly uy

the square of s weight. Opee, his . ﬁ wll ?"5‘ W fi'!!i WM ﬂﬂm
diamaond brolte Into [Bur picces wip)y ¥ v, = fm m‘—! o 7z omm s
weights in the mbio 1:2:3 04 Whey | wadt o3 s .2 3 4 hom o ogeed
the pleces wers wslid, the merchant got b P i b el aA __
r 70,000 leas Find the ﬂllgiﬁﬂl price of w ﬂq‘ " TI . f rmﬂ = r jnaﬂfﬁ] A
the diamomnd. formy) ¥t w1 amenfon = fr
(A] F L4 lnkh |Al # 1
[B] T3 lakh |B] F2&mE
[B] #25 lakh ] ras5Fm

248. Three fnends went for a pienie. Pirst
brought five apples and the pecond 28, i fox 3
broughl three The third friend hewever = ,lﬂ? h:: W Y o W‘
brought only FH What s the sharn of i ﬁ‘ﬂ 3 i =¥ A fﬁl o FR
the first friend? ) o firg w oum e by
Al 8 A &
m 7 m 7
IS (LM

[D] None of the above D) T E @ a) o

29, The reductian in the speed of an enpine
iz directly proportional to the square af

the number af bﬂg‘_rﬁ attached to it The 29, mTE ﬁ'«\“ﬁ il a 5’“ 'ﬂﬂ # 'l-"! 'ﬂﬁ ﬂf,m

tpeeal ef the train is 100 km/hr when ot § w0 safee B we et $ Fen

:_!tume h::-‘i'ﬂs:m;md 55 kmfhr whern 42, MmET & 100 fedfie e 0w oo
efF A= _Ei'EI m1nt i "m ! ;e = - .

mazimum sumber of bogies that can be b=t & m - _ﬂ. m @ @ iy

attached to the t=ain s that it can 55 ﬂi'_ﬂ!-m- o s feen

move? i T m ouwif #oafs o wm e

(4] 6 |A] 6

|3 M 5

[C] 4 [C] 4

iD] Fone of the above

D] Ty & & =7 38
SPACE FOR ROUGH WORK /7 7% w1 & (2 37y

BH20/3-A 11

| PT.0,
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 —— —— "“:&-El
i - - “ I _-_'-"'""-.;
— _ - = ® AT C8 oy
30. To do & rertain paece of work, B would lﬂ.ﬂﬂiwﬁ?‘ﬂ PEp— -
take three times ma long aa A und © wrt § vprieR =T e f’-ﬁm.,_
Iogether and C pwice an long s A and hewaAm P& T & ¥ S ey,
Biogether A, I and Cwerkeng logether gy w8 P b R A oeE
‘can completr the woik in 10 days. How o o ey ik |
bng would B omke by himeed 1o 10 fest & gk, " Tr: irTH?rﬂ:‘ -
tamplete the same peece of work? wd w e} femd B v
IAl 24 days [A]
[ 30 daye B 30
€] 40 days [C} 40
[T 35 days b} 356
3l. Brman and Bose working EPGII“-!F == mié - T w1 & = =
can finlah a work i 50 days and i a) = 50 fra wa 40 frzoame ) g
40 days respectively They begin the , e =Rl ki
wurk togriher and after 10 daye, Bose ﬂ et m ' -i el . r::ﬂ
o= @=ay. In how many days will the wn = B B e W R = Lo |
work be cumpleted by Ramasn alone? & 5 o=
1A} 27 N 27
|1 2= (B 2
€] As0/17 [c] 20417
0y 552 ] 752 ‘|
{
. _ m A ]
32, In A right assC with right angle ar 32, LABC ¥ F=erm T EmET AALD
LABC. I AC =245 and AF-S5C=2. =M AC=25 = Ap-mo_a, =
then s=c A-tand s ez Aetana b
Ay Vsp2 | Al V572
1B 2vs M avs |
. Y51 5.1
,,_ I€l =5~ 1C] l'-.,;_
O] 1795 D] 1745 |
HPACE FOR ROUGH WORK | T w1 & &g oy
-850
e ~S
g~ 4 O
| . ID [}ﬂ b
| A
Dp20/3-A 13 :
i"’q_Ei_.-—
i<
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34,

35.

i min A+ Tj=v3/2 mif

tan|A-J=17+3, then [QA:+2H] &
pegual ta

(A} 125°
By 35
|1 120°
D} 130°

P can complet= & work in 12 days
wockang B hours & day.  can eompletic
thr same work in B duys workang
10 hours & day. If beth Pand Q work
tog=ther, working 8 bours a day, in how
rmany days can they complete the
mork?

Al 34
B 5&
€ o
o] &&

Tramm A rovellmg at 63 kmfl mkes
27 seconda 16 cross tmin B when
travefling ih epposite ditection wherean
it take=n 162 seconds to overtnke it when
travelling I the same divection [ the
length of trmin B is 500 m, find the
lenpth of train A

33, ft sin (A 8w Y342 =
wnfA-Me1 /93 4 W 24 .30 w3 b

[N 125

) 135°
[c] 120°
[} 130°

34, 81 T wm wok pows wnd w12 P A
o s b = e W oo o u e
wik afedl 4 qnomaw By &z pra Qi
B v g am wd, o s A
LRV L

] 5
8] 5
€1 6
D] &

as., ﬁlﬁlﬂr}ﬁuﬂfﬁ'ﬁmﬁﬂﬁﬂ
st fm  wwft ¢l 3 B9l 9 e
@ 97 fug =t P owwfs o2 & va £ [om
ous ek 6], 394, 34 B 01 i@ gl
B o1e2 dse af Y aft 33 pd =
o0 B, M 37 A® T B g b

(A] 400
[A] 400 m
(B8] 810
(B] 10 m
IC] 500 m IC} S00
D] 310 m D] 310 [
SPACE FOR ROUGH WORK | 0% td ik oy ame L5 —m
— e tEn
g — sEpo-- D
o oy )
(reg)— BN
nmﬂjﬂ'ﬂ- 13 1 T,
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36. Conaider m regulnr hexagnn ABCDEF 96, ARCOL UE 'ﬁ'ﬂfW”."ﬂ‘ BIo0m ey ¢
There are two towets placed at Hand D dart By fag AR 0 e # Dok oy g
‘:’h: nngle of elevatlon from A Lo the TR A oifrne o Jurd we why ‘."
ower nt Hin 30*, and to the top of the gow By B S 4 y
tower at D in 45°. What in the milo of Bt o DM ) o ded R g
the hieighta of towers at 1 and 17 b
Al 1:43 [A] 124D
B 1:2v3 | 1:av3
C] 1:2 ic) 12
ID] 3:443 (D] 3:443

. oy oftne 1 W) e wgn uw ala oy

37. A man standing on top of & tower sees 3. U | o o
n car coming towarda the tower. I 1 w sl 'ﬁ af uh tmm " o . t!
takes 20 minuten for the angle of w200 0 a0 @ el 20 Py |
depression to change fram 30° 10 607, o B, it i ) bt e el ey £y,
what (s the time remaining for the ear o T
to rench the towes? "

A 2043 minuites (Al 30V3 fhe
(Bl 10 minutes B 10 fa
[C] 1043 minutes |c| 1oy The
(D] 5 minuies ] & fie
|
38, N.(237.257,267.27%), when N 3s. ufy N e (147 ’”T 026437, 4 NV
divided by 102 leaves n remuinder of 102 i Frnfan wad we fairn v
|
[A] 18 |Al 1B
|
(B 12 By 12 |
(€] 1 (1 1
o o B) o
BPACE FOR ROUGH WORE / 5 wid 8, [y 2 o
Dp20/3-A 14
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wahdraey 15 brres of it and s=0s it
# 30 per Ltre. Then he rrplaces @ with
water. He rrpested the process total

fhree tmes Every tmme whule seling,

the oy pr reduzex by £2. After
thus procees =Tk jefl I 1he morrure g
cnly 108 B2rmy w0 br decuded 1o gl the
e=tsr mixture &l F IS per bire Thean
bew mmuch peofit did he esrn i beugts
=i & ¥ 20 per liore?

Al P50
@/ 770
] PO0

T P00

*

Ire=slly, & shopiterper bad x pems
A corxsmemer bougint 10% of pe—s Bomy x
oo iy cuyptomer hought 20% of
e gy pemw alier thnt g =
custommer eorhascd 5% of the
re=areng peoa Froelly shopbeepes
=t owsth 270 pers in bu shop Hew
many pens wert-therr nitmlly b his

‘ﬂ.-n#rﬁ,m?h!tﬁﬁ@ﬂéi

ggﬁﬁmr?ﬁﬂ!ﬁiﬁéi"'
-2 Rt RiR-R-_R
fzﬂmilﬁﬂﬂfm"‘?ﬂ
Pawn = hﬁ*’:ﬂ*‘tt*‘wﬁﬂ
108 & r:u;rnf-—-hn =5 ®
rﬁf:h":ﬂ'ﬁi?l*:w.mhﬂ'
::r;:-':zﬂ,, A dnngmator =

Al F5D
[B] *70

|C} *ad

o Fi00

s 3 0% TN TR 2 0TS 5T
Te3d 1% 5 IR W R a3 T
== & 20% ol o5 T -
I ST W 25% W T 3 o=
® T 270 =% W TR I § 7 5
g fary wam W7

hee? | |

[a] 200
Al 200
| ic] o0 (C] 400
| My o0 o 50
EPACE FOR ROUGH Wﬂﬁhfﬁgﬁn&'ﬁl
!"‘.'F ﬁ
Doans3-A 15

IPT.O.
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42.

4L The cost of packaging of the oranges |8

207 the cost of fresh oranges
themaelves, The cost of oranges
increased by 30% but the cost of
packaging decreased by 50%, then find
the percentage change of the cost of
packed oranges, if the cost of packed
omnges is equal to the sum of the cost
of fresh orangea and cost of packaging.

(Al 14-5%
(B] 1666%
[C] 14-33%

D] 1366%

The average monthly expenditure of
Mr. Ravi's family for the firast three
months ta f 2,750, for the next three
months {s £ 2,040 and for the last three
manthy in P 3,150 If his family saves
£ 4980 for nine montha, find the
average monthly income of the family

a1 m,ﬂq‘m'zmwdm':u-,d‘.h
2 L

42, w i whA W fem ol o s tae ey
wd r2,7508, @ MR wnd B
2940 a7y A3 il & v e
b =2 3w oftan A wpd § 2 o
wa B, @ N wl W g s w e

B ™

20% Bl WHE 0% g ny o
et & wed w1 el S50% w2y N
fay my and} W ".H wm oy o
& uee & Al LT P,
wqra w witada almma faezid

[A] 14:5%
[B] 16:66%
(C] 14-33%

(D] 1366%

for the 9 months, wifts sma gm oWl
[A] * 3,800 [A] 3,800 |
[B] ¢ 3,500 B ©3,500 |
[C] €3,400 €] ®3.400 |
jP1 ¥ 2 D] £ 4,200 |
SPACE FOR ROUGH WORK / v rd & fa 2 —
. ‘ |
" fae |
DD20/3-A 16
PR 4’
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43. A man pave B0% of his savings of 43, vw =iy 3 W) W W € 1,68,200 %

? 1,658,200 to his wife and divided the
reraining sum among his sons Abid
and Histh of 15 years and 13 years of
ape reepectively, He divided {t In such a
wxy that each of his sons when they
attaln the apge of 20 yenrs, would
of 0%
per annum  The

seceive the  same

amount
compound  Interest

share of Dinth wan

[A] 42,050

B3] € 40,000
1 £ 40,000 (C] ¢ 45,000
C1 P A5H00
il o D) €45,500

M) A%,500

My Buresh’s  average  monthly
expenditure far the firat four montha of
the yeat was ® 2(4). For the next five
morihe, avernge monthly
cxpenditiure was € A0 more than what it
was during the first four months. I he
sp=nt © 500 in all during the remaining
thiree menthe of the year, find what
pereentage of his annual income of

? 000 4l he save in the year.

the

50 3wt v wd fon v v ofn se g
srfer wa fag, fred) aw wam 15 wd
13wl B, 0wtz Gy 3 v oy P fen
fiv we wrE @ o w20 wioEeft, M 5%
wffe vz wra & w @ v w wE
vfn vy for w1 osoow

|A] ¥ 42,050

wl % gy own e A faeogmosn hen
wifter wid @ 200 w) oA wte A G
e sl it gl v wmoudE & 2 a0
wng w Al w6 ol A A T e
wi e 560w, M I oreht g wits e
P 5,000 % faen ufioe awmy

Al 42%
4] 42%
[B1] aBw,
{555 42%
] 2% el S
i ) 24% ] 24%
GPACE POR ROUGH WORK 7 5 wid & {ae s g M O yo
Lt s-A

[ PT.0,
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A

45. Pratap lent £21,600 1o be divided
between his two sona who nged 9 years
and 11 years such that both of them
would get an equal amount at certain
g2 when l2nt at rate of 10% S| per
annum. If thetr investments are in the
ratio of 51:57 respectively, then at
what uge both received same amount?

IA] 15 years
[B] 16 years
[C] 18 years

[D] 21 years

46. A water reservoir has two inlets and
one outlet. Through the tnlet It can be
filled in 3 hours and 34 hours
respectively. It can be emptied
completely tn 1 hour by the outiet. If
the two inlets are opened at 4:00 pm
and 5:00 pm respectively and the outiet
at 6:00 pm then it will be emptied at

[A] 7:55 pm
|B] 7:00 pm
IC] 8:20 pm
|D] 8:30 pm

47. In the given figure, ABCD i3 a cyclic
fqundrilatern] whose gide AP i3 &
diameter of the circle throuph A B

and C. If ZADC =120°, find /CAB.

(A] 40 [B] so0*
c] 30 (D] 130°

A5.

47.

g ot o) B9 O W20 R

g |
3 £21,600 P P9 €O TR i g
s of B ow e 5 ey -

‘_"t‘A‘ IH’ Jap 0.

-

(ap 15 %
my 16 @
jcj 18 o
o] 23

v wors & & wir vl v G ) g,
gosg pEm W W 2 b e,
b Gowm om e P e 825 g,
TR B EE o AR
W“M‘bﬂ“ SRR p—
i o A
JA] TE5 &
|B] 700 €
|C] B:20 w32

0] #20 €2

B fan &, Ao mion et b oo
SO AS, A B C8 MEA 0 ca oo &
fomw b w2 sapca300 ¥ 2 .,
w2 fawnd)

Al aC* SCARR e
I 300 i 13

DD20/3-A 1

SPACE FOR ROUGH WORK / 75 w3% & Gony ™
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48, I a=7-443, then the value of

a'? 4 a7 |a i 48. ®R ae7-493 1, @ gV/24 o712 T W
?

Al 4

[B] ava (B] 343

&7 (€ 7

ID] 243 (D] 243

49, I 0.42<100" « 42, then the value of

K is 49, 32 0.42.100" =42 B, W kw1 5= R
[A] 4 (Al 4
B 1 (B 1
(c) 2 9.2

60, ;?'SJ lﬂﬁlcl‘lm%n;:ng the numbera 2430, §0, 2°%C, 3190 5100wy 4299 % [ sl Ha P
(A] 27 |A] 2%

B 3 i
IC] e 100 Icl 5100
] -
[D] 4%
[D] 4%

61. A gardener plants 17956 treea in such §1. o wiell 3 17056 75 W W TR =Tl
a way that there are an many rows as mie g sfE d wmomoagt & oasa,
there a‘rc tm:’ i‘n a row, The number of il & wwn @ weE ) g GE 8 T
trees a row s ® Q
A [A] 144
[B] 136 (B] 135
IC] 154 [C1 154
(D] 134 D] 134

SPACE FOR ROUGH WORK ; 1% wird & o e
s VA & \ buu %.‘ ‘3
& 3> X \ '31. 1of
\'\ N Q/ L g

‘ Lf\'}“ '}/ —E‘

DD20/3.A ; , M P, T 0
/ S
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The perfect square number of least
Value divisible by 3, 4, 5, 6 and 8 is

(A} 900
i8] 3600
(C}] 1600

D] 1200

53. A policeman, while running to catch a

thiel, 13 114 m behind the thief, The
policeman runs 21 m and the thief runa
15m evern munute. In what ume will
the policeman catch the thief?

1Al 18 minutes
(B] 17 minutes
IC] 19 minutes

(D] 16 minutes

. The value of

(997F « @98F + (0997 997 » 998§
~998 x 999 - 099 x 997

R e e
52, 3,4, 5, 6 vt 8 fnfn SR g
art viga w1 iR Ul

[A) 900 |
18] 3600 !
(c) 1600

(D] 1200

83, @ it ® W & e oew s
m,]ﬂﬂll-i’ﬂowal TR o |
s sy e wEm 21 e U 150, A
mgﬁmrm.%tﬁfmimiwz.:‘rrﬂ

(A) 18 fe ‘
B 17 fam '
|| 19 f&=2
[D) 16 &2

— Bk

54, (997 « (998)° « (999)® -997 « 495 | i
~ 098 « 990 - 964 . 497 |

L] |
& w5k |I
A
[A] 1 IA] 1
B 2 |B] 2
€] 3 €] 3
D] 0O B o .
SPACE FOR ROUGH WORK / 75 w & fag @ -
LAY & YR
L\VA ,lf'_.e
o
% 182 =
DDZO[:-A. ] _ho e\ /)’*(\ 1‘5\37.

—
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55, 1l aAb implies a « b, aMb linplies a - b, 55, w aAb® W] -k, aMbF 31“"5 a=De

.1-B

57.

gPtr implies a<d and aQb impliens
g + b, which of the following equationa
g correct?

(Al 30Q10A4P2M2 =15
[B] SP2ASQ2P2 = 14
[C] 2Q3B5POAT =-5

D] Mene ef the above

Rameah rows in sl water with o speed
of 4-5 km/h te go to a certain place and
1o come Luck. Find his avernge speed
{or the whole journey, (I the river (a
fiowing with o speed of 5 km/h

|A] + Em/h
B] &5 km/h
(€] 45 km/h

(0] Data inadeguate

A rectnnpular block of wood having
gimenwions 3m=2m» 175m has 1w
be painted an &l ita faces. The layer of
paint wmust be O1mm lhick, Paint
culmes tn cubicnl boxes having their
edpey ceunl to 10 cm, The ‘minimum

ETI

e ETEET W W ST U T S

afh 71 yil g p W aQb® ¥ op.p b,
A e i@ wEem ahen P

[A] 30Q10A4P2M2 =15
(B] 5PIA102P2 = 14
(C] 2QIBEPGAT = -5

(D] Twits & & wri S

fap g @ 4.5 ffs e jds @) nfa & A
w3, THA T RIA T A 7 A K i
8 ) nf 15 e e B, M g0 ) A

A 4 f i fae
|B] 65 s e/
(€] 45 fime dfafide
D] e i

3 e « 3 @ o« 175 e ghum w vw

by in ot g oy foawh T Laile T Ry
wogEe fwl A o @ fand g
10 Fa i 1 T & Do foend fowt wis
TEY

number of boxes of paint fo be
purchased (s 4] 5
1Al 3 E 4
[B] -4
€1 3 s
D 2 D] 2
SPACE FOR ROUGH WORK ) T% % 5 e, =7
]D.¢©
LT.0
nn20/3-A It
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88. Three sets of Computer Engmefhing.
Mechanical Engineering and Elecironics
Enginesning tooks contmn T2y, 11
and 513 books respestively These books
Bave 1o be atacked moauch o way that all
the books are stored subjecheise in a2
library and the height of cach siack ia
the ssme The total number of stacka
wll be

A 41
i3 27
IC] B9
ib} 29

89, Which ol the fallowing frections is the
Ercatesi? - o
219
el

221
. 217
1<l 33

Bl 33

60. There are three taps of diametera | em,
3 ©m and 2 om respectively, The i
of the =ater flowing through them ia
equal 1o the rato af the square of their
dameters. The bygeet tap can fill the
tank alone o 61 men 15 ull the taps pre
opened smmuliancusaly, then bow Jong
will the 1ank take ta be flea? '

iﬁ-l: 783, ::u?qﬁmag?ﬁ e
& " T "H‘IT“:’ 4 ﬂ"’_.‘n g
frvage w4 W e 59 & I o
7 0 (stacka) = Fow

ol

- F

(] 1
(13
I€]
1D

= |

3 3

59, B £ & ¥ = urm w95 & b

219
Al 337
221
Bl 335
217
© 555

215
Pl 351

= =&
=t

60, 3 =W = B=d smm )
'4}3ilﬁaﬁ1éiﬁd!|mmm,
TH T W =l i ® v oo e,
T BB ap T e i S
fwmern el = @ o=t
I w T W wrd § e e o
A 44 B |

¥
I

JA] 44 min
IB] 45 min 18] 45 R
[C] 36 min Ic) 36 =
D) 46 min D] 46 fa=z
SPACE FOR BOUGH WORK / 19 #08 & = —
pirzof3-A
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—
pusetion {Juestion Hos, 61 1o 64) 1 Choose
the correct answer {rum the given nlternutives
trat will complete the serien

3. 13, 77,95,97, 153, 7

(A 223

-\ (5] 200
i) 219

D} 220

62, 50, 60,75, 975, 2, 1B4275, 267-19875
(A} 192:173
[B] 1314625
(€] 120153

(O] 138738

63. _xx _¥x __ ¥y _ Xy _ xxy

folm (rre s 61 A 64 7w : R 7R fowd
i wf T w3 W EE W qU

61. 13, 27, 55, 97, 153, ?
_IA] 223
(8] 200
[c} 215

(D] 220

62, 50, 60, 75, 97-5, 7, 184-275, 267-19875
Al 192173
_lB] 131625
[C] 120153

(D] 138738

63, _x:__f,yx__.”"__:?r_ xxy

83

(Al xxxyy (A] moryy
IH] yxyxy Bl yxyxy
€] sy €] yyxxy
0] yyyxx D] yyyxx ,
SPACE FOR ROUGH WORK | 5 wd & fag wme E
13vzed 3443 . 2
pavl 1 .
I"".a . m
!f‘. * _
) g 1%
bin2uf3-A L~ —~,. |PTO
.'.Af (\ * i "y
\ L &
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MmO T e T o8 _ o By B e & By,
o (Al =Y
2 . (0] yyyee
S4 C|] yaryx
i g D) oy

Directlon (Quention tow, 65 and 66} 1 Which fagn (rvs i 68 U 66 LaCRL i LI

Answer-Figure will complete the patiern in -yl d feg nit fed @l e

GE- m‘:!\ﬂ '
65, Question-Figure :

-

aN
Answer-Figures .
N MK
|A] [B) & (D]
| 66, Question-Figure | 66, wFE-
N
» ‘
AnswerFigures - vt - vedag! |
A s | 2\ R
i / ‘ i A | = ui" "‘\ l ;“Il i
| B - . , s
I 18] 1€} D) 1Al () <) i
| SPACE FUK ROUQH WQRK / 05 w1l & Teng s —
pnao/a-A a4
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";i;:t-;l*_l [ﬂu‘giﬂﬂn Naos. 67 and 68 1 In this

x of UESUONS, certain paiesfgroupy of
pumiers Are given ocul of which al) excent one
| e pimilaT In sOme manter while upe g
| yfierent. The numbers in these simijug paira

| groupe gy have the same PTOPRIy or inay be
reiated 1 mr:.h other nccarting to the same
rute. The candidate iy required to chposs f)ye
il palr) gTOUR.

| g7. Which pair does not belong 1o the
gthers?

(A} 3, 4
|B] 4.7
ey 5,12

D} 20, 21

g8. Which pair does not belong 1o (he
~othem?

JA] 62-37
18] 7440
€] 9469

C (D] 1n3-7R

69. GILL |8 related to LAMELLAE, in the
same way ns LUNG 13 related to

IA] RIBS
[B] TRACHEA

L
IC1 ALVEOLS

[D] PHARYNX

@' GILL, LAMELLAL @ 3i) @ =<fm b 33

Frin [m- rm_ﬂ w68 )t el ® m;ﬁ
% gy dfgel/mp oo ¥ P WO R A
mi fazh 7 faal) s s A1 mafire wfgElf
e @ ww o) f W wydm A om A 1_!5!.-%3
o i qh 0 v By anf? ot fase AN ey 1

i b
67, wha-d) @t gl @ wwfen T 0
(& 3.9
) 4,7
€] 5; 12
He] o, 21

]

(68> ¥a-ah Al gl v wdfin = 30
Al 62-3T :
[ 7440
€] 9469

" lp) 103-78

NG, 0wt b '

[A] RIDS
() TRACHEA

(C] ALVEOLI

SPACE FOR ROUGH WORK f TR el i Fey

UmGsa-A

5

(0] PHARVNX
i
A 0s
.3 ¥ rlll (4] \a%
v? | B.T.0. 3
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m,"“"m |Question Nos. 70 and 7111 a
TNTOr 18 placed on the line XY, which of the
Answer-Pigure ahiown the correct image of the
Fiven Question. Figure?

70. Que ntion-Figire :

Ansarr-Figures

A} 8] cj D}

D]

-

T3. Find the number of triangies in the
figure given below

- FTFi
Al [ jiz o

72. B fax & gl @ s g

/1IN N
Al 23 B} 77 (] 23
Ic) 29 [o] 3t €] 29

1) 27
oy 31

EPACE FOR RDUGH:W(}RH [ TF = ik feer

DO0/3-A
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o4 the number of , T3 & mmm W
find the mumber ol trangics wngd ! § frust ™
£ FJUBITS in the figure given below - 73, 2 fee 4 T
N . »
n"\ 7 ﬁ\./
LNy / |
VAR et )
‘ _/ I"F’{ .
| (A| 28 triangles, 10 sguares JAl 28 Frqa, 10 ¥
31 28 trinngles, B squars ] . X
[p] 35 fank iR B 28 fog, &
Ic} 32 mmangles, 10 sgquares B
D] 32 tmangles, 6 sguares JC'-i 32 S, 10 W0
D} 32 Mpa, & W

peection [Question Nos T4 and 78] ¢ Each
o the fellowing guestiona conzistz of five
|pgures matked P, Q. K, 5 and T calledt the
juestion-Fiures  followed by  faur other
| fpares matked 1, 2, 3 amd A called the
|angrer-Figures. Selrct the  fipire  from
imnrgu the Answer-Figures  which  will
|etinur ThE name Scries as eatablished by
|t Bve Question-Figures.

i (v A 74 UA 78| cEm w8 P, Q. R,
5§ o4 T AT S S-SR T s E L 2
Jlﬁ&mﬂmﬁﬂfﬁﬂfﬁfm -
wriaa # it up fawe w3 @ aisl wE-ymelaEt @)
i & wew & s o mm b

T4, Queston-Figures © -4, W—S‘ﬁ!rﬂ’ﬂ :
AEEER] | FEEEE
‘ Y (o} | IR (S] [T} (F) QI IR] (5] (T
Answer-Figures | m_,m .
= o] r
:ANES ‘ﬂ | 31 13 (a8
1 -~ el o Mmoo ) )
[A] 1 [H) 2 Al ) |B] 2
Kl 3 LEH IC] 3 JBl 4
o SpACE FOR ROUVGH WORK /i e & Tiw svm
bozosa.A 2 | PT.0,
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1

™ oo
. J}ibulqiir, T - —————
iy g 7n, e it
L L — - = —
(¢ «ff{a sl1° ©1F wpon e 10 oo N i
R0 l':‘__j '-]I : . b L *‘-,| ‘I‘ sl BP|D M r,[ .
| ™M @ Ry e ey ol lo_alle sl e ~ff,
l [ 1y (I ] () () "
iv“—'ﬁﬂf‘”"'”il"mx T |
« I i = i wirg Tanl
[“ ¥ o 0 LI g ' il 5%
‘ - . = = "j ' L s 4 L E
:T'r LU C Y I :I : ?‘ ‘ 'J {' ’ [’ LI '
| — TR . LY M |
A we Ty Rt gt e
] 1 | : 7y i
& 5 M9 A1 m
' L e 0]
T8, Whinh of thi [
e Bl ing |y sevenin 1o '
r:ﬂhl T nktee il l”n_li!lmlluj:j‘“::: T, m-‘aﬂ & foa g 0w e, ey
1 ;Rhl L T | [T ——"—— L L R TR e -
.'lJn"‘“unH’ﬂ'ﬁlnﬂﬁ;]q e o By
, 0.2 3. (B 177
1Al . Mlni:l“ﬁ“ﬁ-ﬂuw
J o) 7
77, WMatemenis
I Al citios am towna, B LK
I fome elllen v riuﬂﬂ"ﬂ l mﬂ fine .Ia m I[
Conelumiongs | h ™ R i
I Ad) 'li’l"ngﬁn nee [ 'h"‘l
4 Mo village in w oy bbby waa i
A Bowe villngen are Erywy g )m R L 'rm | of day
L LR TR
Al Only Conolualon 3 Tl oy Al s - = fl
(M) Only Canclusion | follows "”: . | llﬁ 4 Wgihn vim ¢
‘H T y »
€] Oy Conelnsian 2 Folliyes () o oy I mhﬂ o §
i | LR .n, 3 -
{1y Hone of the abowvn [l | e < ™!
= — — e "y 1‘ o il i g_’ﬂ 34
HIACIEYOR ROVOI WORTE 7 0% wd & g g~ -
AN (e T
L ) () [y
e/ a-A 2 » *
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= Mmeanw
i "!' m HH g u -
LY I':‘-lﬂ-li n & ilutsl

11-2+700« 7050 = 7
A -0 [B] =18
[‘_'] _i:'“ [Dl =32

i
i

op inand sterte from point 7 and walks

| Bl Crmatn numbera have svinbols ax gves

|
|
|
I

(5 m townrds  north asd  reaches
peint @ Then he tkes & nght wm
ed malke 10 m and reaches pant #
flr egmcn tkew a8 nght tum angd walks
23 in and reaches poml 5 He takes n
A turn and walks fur 5 m oand reachesy
=zt 7. He ogam takes a kit turn
wed walks 00 30 m 1w reach peing U
froee bere he takes & el tum and
alks 15 m and Bops at pont WV
i Annnd stande at point T, then in
whh directinn i9 he with respect to
the swIUng poant?

|A] Southesst
B Northesst
[ Soulbwest
I Seuth

Tl
1.2 3 4- 5 & 7 B9 0

Do CrL 14077 ~«

Weeh giasber ja indizated by thees
m1

im0 ~1008 1~

A 4698077

Fad

ik
o

&

LY
dn
=

Th mE W R yli AR 1" B jﬂ! L Fas
ENV ISR RO
u-:-arm.mqsu-ﬂ
JB -8
|n) =32

] -0
et -2

79. mﬁzfﬁ;pﬁmﬂmﬂiﬁ Iﬂdtﬂiw_l'
& i e Flﬁ;{_‘_!'-‘-ﬂ‘?itf?" Pfﬂm' =4
gxm B w10 W fez g o wdem
Ellﬂfﬁfjﬂ"gjﬁ } oy 3% R = h,-,:-;
5 o whwm &1 frem v 5O P e s
waa fig 7o hoa b wln gu
B e a0 iz wee fag T EiLss !H:ﬂ
@ o= w2 gEm 15 En EEE RS
v ke b TR T e T BE N
ﬂmﬁﬂﬁwinﬁah—i B>

|A] i

m =

{9, v

o &=
. E e mE L
1} 2 2 &£ 5 & 7 &8 9 D
0.O0¢C 1 1 6§D0Inm~

F i e & i FEm R b
[{~rwdDOC~IQO1 «

|

A] 36507

=

231%4 1240

B <s55QBT2 10403740 B 4590672354023 0
- g , G $5556723541340
M A5 GeT23G41240 =y -
B sEgpeT23m 1240 < 45508572194 1240
e : : = -
SpACE FOR RDUGH WORK [ T & =757 7 " )
- =g, B R '_r;‘._ir_ i =
i W = (.
i-—_ql._—-.___‘ ;s_- :
l‘ irg'{ - - ‘:
[ 357 |
m hlﬁ—s—:p —_—
% T | PT O
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woon 1__; TN 81 : Dorlidyge g @ v s

.' 2 b | 'v:‘ m. a ‘ ) ] N ik
®v 3 o4 Y M@ em A b ok wil b

Wﬂjl’ﬂﬂ‘?‘:‘c&ﬂmﬂ,{,"‘l,
h 1% wd v i g @ 78 B g
! , ;

©F BT wrafiey wrm ) e 0 s

Fromy of

"&;;:";;;ﬂ::: A9 e viaw gw qfa oy
81, j, ﬂm*‘#‘tmﬁﬁm:ﬂ
g, ﬂ‘iﬂﬂ‘ﬂ'IEn
L ul’*f::’!ﬂmi;gq
S WV G
R L
G ® TR o T
‘ Al Tazsn
B mygyge
I sw 1.
D] txn

E‘*’h(’m i ag) i T e,y ftm em
v,,llznﬁmitm!{mwﬁlm'mkﬂﬂ
Wwwijtm!.ﬁﬁﬁhaqimﬂﬁ!l
L e L T T NS .

i)
= e 3w & 53t 2 asdor w4
fm_m__gq- ol W owe fem g, QE%;

* T wy wd
o mg,qgmimFrﬂﬁ:ﬁ;
wﬂmmiﬁnﬁm'ﬁm

n;mf&qmmfﬂw—&:imm,"ﬂ#ﬂam
&'Wﬁﬂmﬂmﬁﬂm.mﬁﬁ,mﬂillm

R the, e mo v aphi

qe aurTEA qpE W ¥EE S0 R N
wt | frmes ®OAEER R o s
Il?f'ﬂ & wimm wur Wi uiE E wy mf g -zve;.I;
Fh ot frreraes A O B E 3 e
Wﬁmﬁwmgh;ﬁfmwilﬁm 'a.:,-;r;:,
o oy 0 CwEw AU THE RY A gey g, .
uma & s el fem 0w g g o |
W A emrfRm gf, oA, T oo e
m.-fr'ﬂ l|”

= 3 g wldee frs = e fE o
wa, s w9, SRR AW O B4 A e
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